



Module 11.1 – Answer to Exercise 3





1.	90/90 criterion on the Mastery Test?  No



	If you count all the trainees shown on Page 14 who got 90% or more, you have only 1, i.e., Trainee #1.  1 out of 18 who took the test is 6%, and therefore we have not attained the first criterion.



2.	80/80 on the Progress Test?  No



	You will have to complete the calculations on this page before you can answer the question.  	Then, if you count the number of trainees who got 80% or more, you have 12, i.e., 12/80 = 67%.  We aren't doing too well, are we?



3.	Did we have 80/20 on the Pretest?  No



	7 out of 15 trainees on the control group scored more than 20% on this pretest.  Hence this criterion isn't attained, either.



4.	Gain, do we have at least 40%?  Yes.





	We may have attained this criterion, but it isn't enough for the module to be valid.  







		So, after the first analysis, Module 1.1 is not valid.  We still have 2 things we can do:  (a)  check whether all the trainees are really part of the target population, and (b)  check whether all test questions are valid.



		Like in the last exercise, we realize that trainees 16 and 17 are not really part of our target population (in actual fact, they were from the Finance Department).  So, go back to the Progress Test and recalculate without these two trainees.



--	Do we have 90/90 on the Mastery Test?  No.  Now we have 1/16, still 6%.



--	Do we have 80/80 on the Progress Test?  No.  After subtracting the 2, we still only have 11/16, or 69%.





		Now we should check that all questions are valid, and discover that #2 should be discarded (see Page 2).  Now adjust the values again, and finally compare your answer with that on Page 3.  Is the module valid?  NO!



�ITU/TDG Form 21 

Project:  aaa�Station:  bbb�Page  1/1��Course:  TD-1�Date:  ccc�By:  ddd��Test:  Post-Test

     Ex.1.1--1�No. Skilled/good trainees:  18

No. Unskilled/poor trainees:  15�Maximum

Score:  �Module No.:  ��.Test

Question�Question

Weight�No. Skilled/Good

Trainees:    18�No. Unskilled/Poor

Trainees:    15�Discrim

Index�Comment

discard,

rework, etc.��No.�%�Mean

Result�No. correct�% Pu correct�Mean Result�No. correct�% Pi correct�D���1�2�3�4�5�6�7�8�9�10��1�20�15.6��78�2.7��13.5����2�20�15.6��78�14.7��73.5�10�discard��3�20�18.1��91�4/7��23.5����4�20�19.7��98�5/3��25.5����5�20�14��70�2.3��11.5��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

�
ITU/TDG Form 22


�
Project:  aaa�Completed by:  bbb�Date:  ccc�Page    1/1      ��Course No.:  TD-1�Module No.:  1.1�Test No.  POST-TEST (Ex.1.1--1)�Validity Criteria:    Y   N    Partly��Item�1�2�3�4�5�6�7�8�9�10�Total�Adjust.�Adjusted Total %��Trainee�max

20�max

20�max

20�max

20�max

20�max�max�max�max�max�all items�total absol.�of adjus maximum��1�20��20�20�15������95�75�94  *��2�20��20�20�15������75�75�95  *��3�10��20�20�10������80�60�75��4�20��0�15�0������35�35�44��5�10��20�20�20������90�70�88  *��6�20��20�20�20������100�80�100 *��7�0��20�20�10������70�50�62��8�20��20�20�10������90�70�88  *��9�10��20�20�20������90�70�88  *��10�20��20�20�15������95�75�94  *��11�20��20�20�20������100�80�100 *��12�--��--�--�--������--����13�20��20�20�0������80�60�75��14�20��20�20�10������90�70�88  *��15�20��20�20�20������80�80�100 *��������������������������������18�20��10�20�20������90�70�88  *��19�--��--�--�--������--����20�0��20�20�20������60�60�75��Mean�15.6��18.1�19.7�14������82.4�66.8�84	11/16, 69% �SYMBOL 179 \f "Symbol"� 80%��% of max�78��91�98.4�70.3�������84���Pretest�13.5��23.5�26.5�11.5������29.7�18.8���Gain�64.5��67.5�71.9�58.8������52.8�65.2���





Validation of a Module






�PAGE  �








�PAGE  �
2
�

VAC482~5.doc






�PAGE
  
�
3
�



VAC482
~5.doc















